Average Speed

Concept Lecture -5




T= 1.Shv= 2.0 . .~ A person travels 600 km by train at 80
120 11284 2 km/h, 800 km by ship at 40kmph, 500

D 6‘3377f oo 500 [00 km by airplane at 400kmph and 100 km by

D 50 car at 50 kmph. What is the average speed
S g¢ Yo L‘ 0 for the entire journey?

T hiFd ¢T ¥ 600 fReAT F g 80
frairaer, serer & 800 fFa & gt 40

AC- TD _ 2000x_ frefi/der, 500 fFAlY gar$ Serer & 400
T 122 frefieer 3ttt 100 fFAY FR F 50
freil/ee i AR @ I F@T §1Th
= 30 I & favw sitwa afa &= 82
30.7§= 32 _713—165% #65 = km/h ~X)60 km/h
1 | 3c)60%3km/h 62 km/h
€20
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A train covers a distance of 3584 kmin 2

days 8 hours, if it covers|1440 k the 15¢

day and{1608 kmJjon the 2 daux, by how
much does the average speed of the train for

the (remaining partjof the journey differ from
that for the entire journey?

UF o 2 faoT 8 ue A 3584 Rt AT gl
a7 X &, IR Iw 1 RE F 1440 A
3R gEY RReT 1608 frelt &1 gt a7 Feh
g, @ A I A stwa afa qfr gmEr H
sitaa aifa @ o= e 82

/Bkm/h more b) 3 km/h less

c) 4km/h more d) 5 km/h less




A man completed a certain journey by car. If
he covered 30% of the distance at the speed
of 20 km/h, 60% of the distance at
40kmph and the remaining distance at
10kmph. His average speed of the whole
journey was

TF Al A FR F 0F AT Imr @
#r Ife ag 20 Rreieer f afa @ 30%
el ® qT FI@T 8, 60 AT dr g 40
et ufa & 3iv v g 1 10 el
yfr 8¢ & a7 FIar ¢ g AT A 3HH
itger aifa &= ofi?

25km/h b) 28km/h
c)30km/h d)33km/h
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(345 Y+ 70 2 One-third of a journey is covered at a rate of 40
[/ km/h, one-fourth at the rate of 35 km/h, and

D ([1 3 5) I0LT49  the rest at the rate of 45 km/h. The average
S L/O 35 ‘l 5 speed for the whole journey (in km/h) is:

Rl am=r #1 v fAg$ 46T, 40 km/h Y

I & d9 FaT S1ar €, e w7 ue-alars

;Tmm, 35 km/h &Y ard @ a7 RaT ST §

0 IrET FT AY AT, 45 km/h H I F

T _[xI9xX/xa ag fear smar @1 @ I & R siwa
TT 187 T (km/h &) TG Y

5670 6750
a) 187 b) 187

8 6570 4{7560
187 187

AS=
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One-fifth of a journey is covered at a speed of
30 km/h, one-fourth of the journey at a speed
of 25 km/h and the rest at 60 km/h. What is
the average speed (in km/h, correct to one
decimal place) for the whole journey?
TF IET & gradar fGEar 30 km/h Y Grer
T o fFar g, v Tlar$ IEr 25 km/h
# i A 3 AT 60 km/h F TTT T TT
# 7 B qft e F sitwad @ (km/h
UF GUHGd TUW 9% HdY) FAT gr?
38.7 b) 30.6
c)40.5 d) 25.4

| SSC CHSL 2020 |6
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A car covers s of the distance from Ato B

at the spea of 8 km/hr, % of the

distance at 25 km per hour and the
remaining at the speed of 20 km per
hour. Find the average speed of the
whole journey.

TH FX AW B A Fa gl F1 1/5a1

fewr sl wifar @, —ar R
25 Rraft/e & ARy F I A F;
fevar 20 frsfle & afa @ g F
2 FR 9 stEa AR gar FA

a) 12.625 km/hr 13.625 km/hr

c) 14.625 km/hr %15.625 km/hr

| SSCCGL 2011 T-2 | 7
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A person covers 40% of the distance from A
to B at 8 km/hr, 40% of the remaining
distance at 9 km/hr and the rest at 12
km/hr. His average speed in (km/hr) for the
journey is:

TH Ifed 8 FHiae rafa d A a8
a® # gft FT 40% TEET aT FT B
af a9 g e F & 40% gt 1 9
Rl & @ar a9 @ §§ qf @ 12
frefl/ae & ag «xar g 3udhr 3ua
afa (fFee) & frad &2

5 2

3 1
é{/"g d) 9

| SSC CGL 2018 T-2 | 8
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A car covers four successive 7 km
distances at speeds of 10 km/hour, 20
km/hour, 30 km/hour and 60 km/hour
respectively. Its average speed over this
distance is

Th FN T7km HT TR AR gRAT
10frsfire, 20frsire, 3ofFsirg 3k
6ofFsla 1 AIfd ¥ T FICAT 3] FX
1 3itaa afa gar #]

a) 30 km/hour /20 km/hour
c) 60 km/hour d) 40 km/hour

| SSCCGL 2015 T-2 | 9



A boy rides his bicycle 10 km at an average
speed of 5kmph and again travels 5 km at an
average speed of 10kmph. his average speed
for the entire journey

TF osHr 5 Rl ufa g fr 3itwa afa
¥ Aot g@fea & 10 fFAT & ol
Far & 3R Y 10 R wfg @ Y
sitee aifa @ 5 Al &t amm wear 31
I & fav sud stwa afy 7 He
a)3.6 km/h b) 4.5 km/h

c)4 km/h fﬂ’g km/h




A car travels along the four sides of a square

at speeds v, 2v, 3v and 4v, respectively. If u

is the average speed of the car in its travel

around the square, then which one of the
v ivjv following is correct?

J TF R TH g & IRI 3 FAT:

LIEL s

2 UD o e ey u &, @ TR # @

29xY FieT /T HE 8?
— a)u=2.25v b)u = 3v
:25- %}<u<2v d3v<u<4v

W=Y¥ \3

| SSC CDS 2012 | 11
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If a car covers a certain distance in 1 hour 24
minutes by covering two-third of the
distance at 52km/h and the rest at
65km/h, then find the total dlstance.._Sx'T
I F$ FR Fdr ARaa

24 et & a7 FICA g, gt F1 Ak ﬁm'é
#TT 52km/h # G ¥ AT AY g
65km/h Y AT ¥ IF FIA §, A F

AT H

78km b) 163.8km
c) 75.8km d) 46.8km
|2)‘\’ L

605

|SSC MTS, 27 Oct 2021, Sﬂ 12
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Akshay travelled one_fourth of the distance
with a speed of 60 kmph, one sixth of the
distance with a speed of 40kmph. With what
speed he has to travel the remaining distance
that the average speed of the whole journey

become 48 kmph?
et - ag&eokmph frafy @, - g

40kmph o oafa & @ T %| IR
3T QO gEr o tEa =@ 48kmph
gt TifeT at 3 aifF A g rw afy @
@ HTE gref?

a) 45kmph 46.66 kmph

c) 48kmph d) 50kmph

| | 13
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The ratio of the distance between two
places A and B to the distance between
places B and C is 3 : 5. A man travels from
A to B at a speed of x km/h and from B to ¢
at a speed of 50 km/h. If his average speed
for the entire journey is 40 km/h, then
what is the value of (x — 10) : (x + 1)?

T A 3R B & dr iy gl @, T

o & 3R B ¥ C aF, 50 km/h @ =T
¥ IET FaT g IR @ A F fav
39 3Ed °Ter 40 km/h &, aY (x —

0): (x+ 1) &T AT FAT EIM?
20: 31 b) 31 : 20
c)10: 11 d)11: 10

| SSC CGL T-2 2020 | 14
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A man travel from a point A to B at the speed of

5)25_1 50km/h and then further from B to C at 75km/h.

pSo BI5¢C 2 Al

X+KX~|2S

lexasxwn 3@22

2%x4125

49

Yoz < v
=AU+ |54D

T&D(Prac)

5%

Then he returns from C to A at x km/h. If the ratio
of the distance between Ato Band BtoCis 2 : 3,
respectively, and the average speed for the entire

journeyis 61 2 km/h, then what is the value of x?

v afdd 50km/h #r G ¥ g 4 ¥ B
de Y T FIar § AR sUR gEAd 75km/h
N I B ¥ C daF N IEm Far & W,
98 xkm/h Y 97 § C

Ife A q BH B
e[ 2:3 @, & I

a) 65 b) 62.5 c) 64.5 60
5

| ICAR, 28 Feb 2022, S1 1



4 % A man goes from A to B at a uniform speed of
1 12 km/h and returns with a uniform speed
Pl ll of 4 km/h. His average speed for the whole

” — —o journey is
A 12 B Y A oo A @ B aF 12km/h Y TE
AT afd & Sar § IR 4km/h H
AT Afd @ aﬁa?n gl qff I & fav

Qiwlh b lonlh 3@ 3t aifa e Hfo:
— —— — a) 8 b)7.5 /6 d) 4.5
A B C
R
AS=2ab _ xizwi
O 46




A man travelled a certain distance by train
at the rate of 25 km/h and walked back at
the rate of 4 km/h. If the whole journey
took 5 hours and 48 min. The distance was
UH cgfad o 25 ThaAvger i g7 & o
¥ e faRaa gt @@ #r IR 4
frafi/eEer i g F aw =ar IAm I
ot I A 5 ue 3R 48 Rere @9 At
{ff AT HifS:

a) 25 km b) 30 km
//UYZO km d) 15 km
A= Aab
d+b
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A student goes to school at a speed of 5%
km/h and returns at a speed of 4 km/h. If
he takes 4% hours for the entire journey,

then the total distance covered by the
student (in km) is:

wms-mmﬁm#mm
%3ﬁ14km/haﬁrmﬁmm%l
uﬁa'e.'qfram:ﬁrzt— el &1 A

o B, a’rmaamatra?rméarera;&
(km &) AT

a)11 b) 16 c)24 %22

| SSC CGL T-2 2020 | 18



A car travels a distance of x km at a speed

5
5+§20f 55 m/sec and returns 5 m/sec to the
9 starting point. If the total time taken by the

o caris 7E hours, then the value of (x + 3) is:

Téh 52 m/secﬁiﬂ'ﬂ'@‘kaff@?ﬂf

Frat § 3 eI Rig 9T 5 m/sec B
Ng'gi(i 55 m#a’rz?ﬁﬁa‘ggwaamseic%m

A=

1

umTa»—eramr7— ge g at (x+3) &
mmma?rr

a)78 b) 80 /(75 X72

|SSC MTS, 7 Oct 2021, S3 | 19
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A delivery boy started from his office at 10 a.m. to deliver
an article. He rode his scooter at a speed of 32 km/h. He
delivered the article and waited for 15 minutes to get the
payment. After the payment was made, he reached his
office at 11:25 a.m. travellmg at a speed of 24 km/h. Find

the total dlgggggg travelled by the boy.
v fBefladl g FF avg Beflar # w10 @

mﬁmm#awmmwsz km/h &Y

[0 arer & =omm 3w avg 3 AW A ¥ v

)
3

15mtwm%m|aframa:aﬁ 98 24 km/h
N T F IAET FIE §O, Wen11.25 T I
m‘ra'zrqﬁrW|a3ﬁ»'aama'€ra?rvr§m§&

AT a‘ﬂﬁnn
a)40km b)30 km %2 km d)16 km

| SSC CGL 2019 T- 2* | 20
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A person travels a distance of 300 km and then
returns to the starting point. The time taken by
him for the outward journey is 5 hours more
than the time taken for the return journey. If
he returns at a speed of 10 km/h more than
the speed of going, what is the average speed
(in km/h) for the entire journey?

S AFT 300km g aF FIam
I Y IRfew fig W amw amar @
¥ o WA, a9w I A

| SSC CPO 2020, 23 NOV S2* | 21



Kiran covered half of the distance with
30 kmph. With what speed she has to cover the
remaining half of the journey so that the average
speed of the whole journey will be 40 kmph?
for et g 30kmph B afy ¥ QU
A ¥ 3@ @@ wmr @ stwa wla
40kmph & & fau afed 1 amefr gl
Fret afr & O el g

a) 45 kmph b) 48 kmph
¢) 50kmph %O kmph
i
30 X




Priya travelled certain distance with a speed
| hr + = |[hr of 40 kmph. At what speed she has to return
so that the average speed of the whole

HO . Ho O journey will be 80 kmph?

' o feet $ 40 kmph 1 Ifd &
Hokwhh 7 Bokrth et e %lg?'q?ﬁ ot amr i sitea aifa
80kmph FI & fav 3@ fFa«r afa &
Iy 3T 939M?
a)120 kmph b) 100kmph
c) 160 kmph }flt is not possible




A train travels a distance of 192 km at an average
/g/ 2, speed of 80 km/h from station P to another station

Q. It then travels back to P and the whole journey
79 ug- h Is back d the whole j
2/)(%1( T X%?:_Wtook 5 h 36 min. Find the average speed of the

train on the return journey to P.
RO+ A~ UH I TUT P A FAT Q FT 192 ki Y g0
80 km/h #Y Jea T @ T w4 g Y T@
x. 260 & gt P 9X 3T et @, qf AT A 5 €
== 36 fAdC @ord 8] @ IR P g% A H o

Yo+ % 7[140 &1 3t afa 7T N

a) 72 km/h b) 36 km/h

¢) 20 km/h % 60 km/h
N 265
405
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A man had to travel 49 km, which he divided into six
stretches which were exact multiples of either 4 km or 5
km. The first four stretches were 4 km, 5 km, 8 km and 10
km. Multiples of 4 km and 5 km were travelled at the rates
of 40 and Mm/h, respectively, and between two
consecutive stretches, he rested for six minutes. What was
his average speed (in km/h) for the whole journey?

ar 6| 20U afeFd & 49 km AT F& § O/ WA B
IS ég*‘g‘oarnﬁﬁﬁaﬁaﬁ?mmq&msﬂ4kmsrws
3 \  km @Y 0TS | gl IR GRAT 4 km, 5 km, 8 km 3T 10
% 4 A2t 3 km i 4 kmsﬁtskma}:gma’raﬁﬁ T HA: 40
p A4 , 45 3 60 km/h &Y TTT T T A 7F R qF FAF ‘
S Yo ' o ¥ &g 38 6 e &1 o o off amr &

3w sitaa =1 (km/h &) fraet @7

25

|SSC MTS, 18 Oct 2021, Sﬂ



A race has three parts. The speed and time required
to complete the individual part for a runner is
displayed on the following chart. What is the average
speed of this runner?

T als & fiT swer @ &1 vH ued F Qv

"1S'l'6(4+75‘ ITAI-3TET AT P [ FA & AT IJTaeqF i
A g7 F AFT gar¢ W welRia fRar smar 21
e = uTaF i sitea Aty Fa §?
a) 8.17 km/h A8 km/h
= |]Y 2 c) 7.80 km/h d) 7.77 km/h
Q?) Part | Part Il Part Il
Speed (km/h) | 9 8 7.5
Time (min) 50 . 8¢ J 10¢

| CDS 2019 | 26



A man travelled with a speed of
40 kmph for half time and with a speed of
60 kmph for the remaining half time. What

Ko H is his average speed of the whole journey?
h”% U& ogfdd IS AT dF 40kmph &
Aot das Ty ¥ T oy WY AT aw
601;;}11_\:'1;1'_1 #r afq § FJorar g T A
$r afa A X2
20 k} 30 k’é’ a) 48 kmph %) kmph
c) 52 kmph d) 55 kmph

5

Go




|40+ 240+ YO

Amar drives his car for 2 hours at a speed of
70 km/h, for 3 hours at a speed of 80 km/h

6

and for 1 hour at a speed of 40 km/h and
reaches his hometown. What Mrage
speed (in km/h)?

I A9A dR 2 & F &@T 70 km/h
N AT § TaAdT §, 3 g F AT 80
km/h &Y =TTl & 3 1 @ 40 km/h H
I § T § AR I fHesT (8-
AIN) 9gadT §1 SHh A Tl (km/h

) AT B
a) 64 /K 70 c) 60 d) 66

|SSC MTS, 20 Oct 2021, Sﬂ 28
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Sanjeev travelled the first half of the
distance from his house to school at a speed
of 10 km/h and for exactly half of the
remaining time he travelled at 13 km/
h and the rest of the time at 17 km/h. Find
hjs average speed.

qolld A9 B @ T S gl FT 3mar
REAT 10km/h A T ¥ FUT T T
AT T AT AT 13km/h & afad &
3k fY AW AT 17km/h T AT @
I w1 2| 3T g T Ja F:Y
a) 13 km/h 12 kem/n
c)15km/h d) None of these




	Untitled Section
	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29


